Reasoning

Teddy and Eva both draw a pictogram to
show how many cars they counted
driving past their school.
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What is the same? What is different?
Whose pictogram do you prefer? Why?

Use the tally chart to complete the pictogram.
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Explain what you did to complete
the pictogram.



Answers

Use the tally chart to complete the pictogram.
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Whose pictogram do you prefer? Why? o ) .
It is important to check the key so that we know what the picture is

showing otherwise our pictogram will not show the right amount
(inaccurate).



